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	Reason for change:
	[bookmark: _GoBack]In RAN1#112, it was agreed that the bit size of a redundancy version (RV) field in DCI format 1_3 is configurable. According to TS 38.212, if the RV field size is configured to 0 bits, rvid = 0 is applied, and if the RV field size is configured to 1 bit, either rvid = 0 or rvid = 3 is applied. However, in the case of 2 TB configuration for a cell, TS 38.214 v18.2.0 allows disabling one TB only if {IMCS = 26, rvid = 1}. Therefore, if the RV field size is 0 or 1 bits, gNB cannot disable one of the TBs, as the value rvid = 1 is not addressable by the RV field. To resolve the issue, another combination of {IMCS, rvid} can be used that is commonly applicable to all RV field sizes, for example, {IMCS = 26, rvid = 0}.

	
	

	Summary of change:
	Correct the condition for RV field value for TB disabling in case of 2 TB configuration for PDSCH reception on a cell when the RV field in DCI format 1_3 is configured to be of size 0 or 1 bit.

	
	

	Consequences if not approved:
	Incorrect/ambiguous specifications for TB disabling with DCI format 1_3.
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In case the higher layer parameter maxNrofCodeWordsScheduledByDCI in PDSCH-config indicates that two codeword transmission is enabled, then one of the two transport blocks is disabled by DCI format 1_1 or 1_3 if IMCS = 26 and if rvid = 1 or by DCI format 1_3 if IMCS = 26 and if rvid = 0 for the corresponding transport block. In case the higher layer parameter maxNrofCodeWordsScheduledByDCI in pdsch-ConfigMulticast indicates that two codeword transmission is enabled, then one of the two transport blocks is disabled by DCI format 4_2 if IMCS = 26 and if rvid = 1 for the corresponding transport block. When the UE is configured with higher layer parameter pdsch-TimeDomainAllocationListForMultiPDSCH, either the first or the second transport block of all scheduled PDSCHs is disabled by the DCI format 1_1 if IMCS = 26 and if rvid = 2 for the corresponding transport block of all scheduled PDSCHs. If both transport blocks are enabled, transport block 1 and 2 are mapped to codeword 0 and 1 respectively. If only one transport block is enabled, then the enabled transport block is always mapped to the first codeword. 
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